N
w
M
o
0
1>

kK

E(12.02)
=2
| 2(12.01) ==
=
| i e
=l | PPN ZbEbH
= aLgen] yivehi
= SHAHAR &S0
O_I Ml E -I == Fatx M= AED}LCEMFE'
| - = % ==
E-” Ola-” L2538 ESIE
— _ Hl =20 X|
=4l IH{OLSLE= o] I:||'o|-_|_’ wan (623kcal)
— X 2. o (626kca
AjEt =2A|l= o a—Ir=
e — ! = pTy,
ZEALE 7} gl = | 0 olets
7-I Z - A~3Y 0T
‘ SHAF SHESEANS ainon
x =} Eu WPNPA |
o -I 7 OI- O 71— ax
7-I L. I- 7 < = i 2 %]
(619kcal)
7 F J\ (@) I CC = _ EX-)
A I-() |- T ML/ s= rehSE SR
o = O_I EAESES e BHR}
2 7k 2ol M — == — EEPS
X 7 I‘ 7 AQQEXRZFA xoolsa
i A whm 3 2l ==
PN ol A Ll C =38
i AI.—” O EA AA H - E(12.09)
Z = 2(12.08)
s %(1 Tz
el 21(12.05) 1200 e EENERS]
= 2(12.04) .= Sl St== ZbEbm ot
?‘T'__ XL;EJ:‘F t:t;“:li og{;Lo EEH—;F—EI:II ._ol:lxal
= 2olEx
=4t R HEX| ;_;CFHI =g mix}%—%l%‘ = :-:-:l
Stef =2 oS ay KN, = A 1 ZLHEFE
¥ S x> = ok X = CELES =
FLIEE17| = o _ =5 Rxd Aa) = i =21 x|
4 Al ﬁqgi;xﬂ' =23870l Tozro|te = o =2 A (625kcal)
= )\|-7 S2HEEE =] == H
AlCH AFZE M MR =T IF i =2 x| (624kcal) (627ke
= = X HHZF_;EIK' ) 1H}
Hlf 2= 21 x| keal) (623kcal PR
(626kcal) (625ke A2t N 27|
&= ArﬁlLr SE AT 50|
! E} AT S
Nl i CESEEss - Sl & = 8
SRS ; ilT‘ : O Etal B A LtS 2(1\‘2}”—\1"%7\
SEe 5 EEEXES o x| = b F=2 %
[EN . - 2L 2 A OhsSE A ojAx=2E TE
N4 ;EJAELEO\F%;LE |7 PRy B 221 ElES (620kcal)
Alct HELt= b =20 %] ‘ \ (624kcal) EX)
- B =20 % te (622kcal) EE] e ot}
o (623kcal) S ot [opE= 5
(624kcal) == e 5t il
=& E5ERE " EEN 23
o &= e A e 2PIEXSFA zz0t23
~ 'l
J“:I thEE SR} ALAH — OFAf =~ wE e
EME
2H4 PNV ulLlEleoo_E Y S £(12.16)
= = =ames .
2% x=3FIAE 2 =eHlS = Eaet
S +(12.13) JSETT
A st(12.12) (12, S TR E A
2| .
= 2(12.11) fS=TT u;x@lﬂ%il ZhrE 37|
T = a=d MR TS O =] AHA17|-J\E|7|
Zh=2ul EE o:rE\__‘XEm oMEES o
AAUX = R A HE=EEH %1717 }+2ko A P b ESEIERS
S oo MWEX=H = =) x|i 2} =l
Hegs :C;dﬂ_m ‘EJAE"OFKH%E QEALEMIBI = S EyTE HH??:}Xl
& Al AmgsoklEe BAE AlgxFReg “a= ol = 2 %] (625kcal)
(== EAKL_} = HE L2 Y P (627kcal)
AlC =5 P =4
AEr NESIEY . iﬂ xll) (623kcal) ( ==
(623kcal) (623koa =t . Stef 2
=z Th=dt AlEkz . SEf =gl i
2t ‘1: %wgﬁmo HlolLto gt e ,ﬁu;ﬁ FYIAHARS
- AL;.( =SSO0 FS £0|DoFAFE & 2 [T =R
SHE LTS =oj=xg frsolame <F: VETIES
S|  zuxmexe R chAla}=) 2 , Faxl
= SEx = DA S| = ETIEY (620kcal)
+= =7 - (62: EX)
HHTX/\X‘ ’\\Hf/ﬁ.ﬂk (622kcal) EE] Eébi}
= (623kcal) = 512} e S5 5
(624kcal) sz . [ChEE SHX|
. o= _ -
== S8 i} £ 34} — PEEPS
XX = [chEE S} SepAT of=a
= eSS =752 A o =
FIAl = HEdaEs Az 3
= O &A= GRS 23)
= WA=t |0] A D}R} ARzt S(12.22) E(12.
2F N ool= = B(le T=u
Al 2(12.20) _ FS=rT e
2t 51(12.19) i Rfobi Aesg
o ) 2] =y ZERpofnt ol ot
72 U v CRe a e e
= =T = Azt v, orals) 2!
g38 sL== 25 s Zatx|Me = i
ol=g S | 2bRrE 7| soi=g 2 S TTol RS
=o molctxal = x} o< 2y =274 axLE IS
2x=E88S Zalololtee EoiSnz¥=x NEBEEES o i o 52 %]
= = [=] x =
x Al ED}-ALE|7| s=zz2/d| o l|:' ZLEF3 =71%| o =2 % (623kcal)
(== ~E=TE clxl g etaio| g & OH 2513 IESA] (626kcal)
)\IE';l- x| 7 2| A &Y ESIEY &= (627kcal) =g
= ESIEY (625kcal) (626kcal) — =TT s
(626kcal) Fr=ar i e o= A OF] 20|
&=t e s Ao 2 !
KD H} = AIZE AALCHo< 2] =la= 2R} =2
S b= M Qalaz=e TEEE=n DMK Ok 22 jl_lio\'_'ﬂ
sxdojo= O EExE H\; VQJJﬂ FAPNFS| o2 L'w“‘/\fl—l
7HRta| o] ox|me ﬁl;t@ ’ Saie) 23 . HH—TDK‘\
=R = Lt okl 4% =705 e (623kcal)
AbAN QFH.:. MExELE S =71 | o =2 | (620kcal) .
AlZRLE METI b == 2 (624kcal) EX-)
b 220 x| ) ;5;:; 0 (622kcal) — = e
(623kcal) 2= - = er
(624kcal) 6 Sz S:;L‘ [hEE SR}
_ 2= }Eékﬂ pikadaial =) ErFs
=22 = 18 5=, Pl -
=¥ b k3t i Ty # o
== et — RETESPN I
2H4 S Aﬁlﬂm s o
o5 = Pl
"‘_'T ZAIIAH 2} -
ZHAl




£(12.30)
=2(12.29)
= = S o
- +(12.27) =(12.28) T SErT
34(12.26) s F=TT = o e
= 2(12.25) T &= ae= o2&l
T e o PR S -r= zus gDy
=g SlEf EF SHEE= AN M CIES= i e
Sehao|dE = ol AAICHE S EF HEEES o ol ZxopFtR2L M =
SE=013 =X ES TEATE S %1717 2o | 3 M2
A207|Wo| B2 EHAXTE blolLbo| %71 I So|zpelArztct SHLE
=1/ 801FH S Eo [l =PNE=E| 20|zt =71 %
FSPN| SRS ~x o x| R X 23 = MESIEY
== = ojLig| T2 _r df =21 x|
QkHY 3= 4k« MR s B =2 x| e (624kcal)
Alct =23 b 224 x| (627kcal)
i =4 x (624kcal) (625kcal)
(622kcal) — PSS
= oo
R af M2t 2 ALEHi =
A2t
o= ESnblE = e =g2T7)
ol=¢ =L =8E
iy sogyd coeeE So| R =B D g
ol = e Zoluixze e R
= Q0| zatx| 2 & MSols A =g o =2 %| Lo
5/ . eI =51t EV 0 B =2 %|
AlCk u[‘\‘x;:ﬁ‘r“‘ o 2= 20 %| (620kce
e bl =2 x| (82 | =
(617kcal) 10e — EX) ==
= =5 - rchEE SHRL
= i [hes Sk} hEE SHR}
= CI=IoN ~= BT
XS] upes sk il FrEr=n WA a2
=r S=0c EON
2FA] a3eIt A}:&:.H‘:'Hfri AlTbtE A A AsFA
k=3 ni Ax
G T/ _
ZHAl 2 Q&L ch
| 2 AL (N ¥ T A=
% 2 5 Atgol




